t}S P31} o] 100m Bol A F C
A A, B oA skl Hle & C
= %E%E}% ZY=7h 242 60° 45° i

o ol o, 52 &ol h =7

® 100m @ 50v3m
® 100V3m @ 100(V3-1)m
® 50(3- V3)m



o 187 o] 200m Hol A e s
A 1o T 2 A, B oA 7135

St 2 7ko] 37)71 242} 45°, 30° !
ot Ao r e 7729 = ﬁ

ol&? A L45 30"
- 200m--""

© 100(V3-1)m @ 100vZm

® 100 V3m @ 200m

® 100(V3+1)m



(0]
o2 293 Z2 oA
BCD 9] yo|=9

® 63 cm?
@ 8
@ 143 cm? ® o e
16 V3 cm? .



th2- 1 oA PC &= 9] FAlol1,
PB & &4lojtt. /P = 30°, PA =
4cm , PC = 6cm € W], APBC 9] 4
o]l=?

¥0m2 @ 2+v3cm? ® Ecm2

@ 4+/3cm? ® ?cm2



5.

tanA =3 4 o,

@

&=

@

sin AcosA + sin A

cos2 A + cos A

®1

Wl =

o



1
6. tanA =1%o, (1+sinA)(1-cosA) + 3 O] Zr2(H, 0° < A <

90°)

@ 1 ®vi @+vi @3V

@ 9

DN | =



the 1389 AABC oA A
AHLIBC € 9], cosy 2] Zt2?

Ut W

6
=

U] 0o



8.

o2 1ol A sinx + cosy & ZH2?




o2 3 Al B3} sin 30° ¢F 2]

@ cos60°

@ tan45° x sin 30°

® %(cos 60° X tan 60°)
@ %(Sin 30° + cos 60°)

® 2 x (sin 30° x cos 30° x tan 30°)

oF

o




10.

AzEg ol Al Uizte] 2719 H7b1 ;1 : 2 9 AAFolA Al 4 F
H|7}1 Q1 Z+e] 3715 (A 2Hal & o], sin A + cos A + tan A 9] 1]
a+bV2olth a+b 9 T2, a, b= F3F)

D 1 @ 2 3 3 @ 4 B 5



